12-1 [2] OFEE

12-1]
[1]
EHIRE->T () =x" -2xDx=1ITBIT MR ERD Lo
[2]
(1) PEAFTRRZRBE%E £ (%) ICx LT, Bk g(x) =3/ (x) 52 5.
@) =x'(X)+f(x) LB L%, HEKOERIHE> TTE,
@) (") =mx" (niTERRE 2B T & BEEMRINEE AV TRE,

¢ 8 B H ') o R Jf'(x)ﬁhgﬂ“i}jﬂ

T 50
R

W) ) = o i) &,

%ot = i _Jlcth) -4k

h—o 1’\

o Lth)Fn) —2ft)

h=s0 "\

= i oftah) +hfocth) -2 foo)
h-o h

i U Flerh) - foe)) + hTlath)
h=o h

= “ﬁw LX-M’ + furh))

N
= o {0+ foo .

(D) (o) = px™ o o) 27 Ao BB N1 T VTS QR

Y 9998 4t T,

) h=lac¥,
(%) = fim Lth=-L (=] = ]-x°
h=o ’q h2o
& = oeF G0 ) U
(M h=lkots
()P PRYB o AR RFDe. (20 = bk
YRR

() = (o ok)’

’)L(x")/ + xk (~an)
x- !+ X

kotk + 2"

= (R V) Xk

n

i}

"

T n=ht|acek F X)L
U), [n) &‘),1/\\‘10) B%‘ﬁhl:ﬂ\\z‘ UK)oF ﬁ%l)i') -



